Y awsid

_«\"»4.:4"}5—\
P, YnR R
T T Ty (L)
P, vrR, R,
S, =nR,” R
T (' = (ol

Sy =R, R
(0210 bnmo 9 Colino — Jgl o) (oo 2 1>)
103930 o 8910 90 (g2 (g dicmd (3930 (pwlow 0 315 90 olE T wibl d = R =R | )51 quils oo = «1» 4y 35 =¥
d=Y,R=8,R'=¥(d=R-R'|¥V) >

—_—
(o315 Cumdg = Jol Juad) ((ghozmo sz l>) .03 5l0 S yieo (wlow SO LS g

S by wdyls (215 9 (A1 S piden (low 0115 93 (| &5 oS Az gi AT (il Ay W lim <Py i 5 Y
IR-R'kd<R+R'Y(d=6,R=%,R'=¥) > il ablise o yls

1l pudlgs (o LIS X L 1) o2l O pio wlow 031l (51.C0bls pudlas g 010 (2B S piio (wlow 90y

x=yd"—(R-R)" =/ya—F =1 (o 3® GBS 3ub)
(S yidio oloo = J3l Juad) ((gooimo 2 1>)

~ AD+BC _
eyl e 099 wlgs My = 7 ld g0 = «¥» iy 35 -F

=~ +
M =Ax rx

) ZFX = My+YX=1A° = FX+YX=IA° = x=1.°

(é)inlé 00 5990 4&5‘5- Jg‘ J.-aﬁ) (6»\0&0@5)
-« &35 -0

OM =+# TiBoq.0
}% MB=vVR"-OM' =A = AB=1s

OB=).| sl o
0= = NC=Ostin9~°=\~xg=Ax/? = DC=)+/¥

AB_ v MY
DC .y 1

(eplo s y5g— Jgl Jad) ((goomo >l>)
(ably 31 S piio (wloo Y 1) 25 (o )3 QLS @b — €I 4y 35 -7

y=4d"-R+R)" = a=y*" —(R+R)" = (R+R) =1sa-va=1fFf => R+R' =\

wiboo N g M pody alaii g0 (9 F G035 JSb 4 4> gi b 0gds o
N M
o' (0)

NM:d-(R+R)=1v—-1v =) iRy alall 95 (g SO 3

(e,ﬂé 50 J}u&w U»JLM_ J9| J.aaﬁ) (‘5M‘:'>l>)




=« g F -V

x=+d"—(R+RO" =/rra— A1 =1FF =1y X
y=yd' —-R-R) =Jrra—a=vfre=sfs| Y 7

(o,ﬂé 50 J}u':w UHlM— J9| J.aaﬁ) (GM‘?b)

o P w35 A
A
A A@ Ax=vOA"—Ox' = f/¥ > AB=AVY
c by = JODT 03" =¥ F - DC=3(F
DM =1/ o sl CM = YDM il o0
CM.DM=MB.MA — f¥.v/r =AM .MB w015 g ol CML = /¥

Yf=AM.MB = (AMY—MA).MA = AJ/YMA-MA" —
MA' - AYMA+YF=0 > (MA—FJY) =rr—vF=A > MA =5  W¥

(03213 35 Job bulg; = Jsl Juad) (smama o) o1 Olg2r 90 (Somy ol AM 09 o0 Ly sUgo 52
—«Y» M)f -9

PN =YR (P S oyl al—old 'y yiiion ) OA=OB=R VAo s
MN =YR =N }:A=B= Y =$.° => BA=R
O=s.°

MP =R

.Y
PAx(PA+AB)=PM-PN = x(x+R)=RxYR=YR" = x"+xR-tR" =o —R (%)H(%)—rn

—R s yiay-r=e (y+%)'=% = y=ﬂ—l = y=%(ﬁ—\)

R

Yy v

(02213 55 Jsb Ll = Jol Jod) (sroo )
— «F» M)f —Ye

O'T ' =0'M-O'N=fxya=1+ = O'T=)
(o215 35 Jgb Laly; = Jof Juad) (srama o)



